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Q= @seek], seeko, reset, verify, ,



5( p ,a)=( q ,b, 8) explanation
6( start = (seekl 1 mark first @ and scan right
6(start, x) = (verify, $, +1) |l looks like we’re done, but let’s make sure

o(seekl, 0! = (seekl .0, +1) scan rightward for 1
6(seekl, x) = (seekl, x, +1)
ofseekl 1) = (5gek0. %, +1) K . mark 1 and continueright =~
6(seek0, 1) = (§£k__9_,__14+1) : scan rightward for @
mx_) = (seekO0, x, +1)
O(Cecko, ) = (resebiig +1) o .. Makeendscanlefs =~ 000
O(reset, 0) = (reset, 0, —1) scan leftward for $

O6(reset, 1) = (reset, 1, —1) :

o(reset, x) = (reset, x, —1)

O6(reset, $) = ( start , $, +1) step right and start over

mark @ and scan left

5(verify, x) = (verify, $, +1) : scan right for any unmarked symbol
6 (verify, O0) = (accept, O, —1) success!
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(start, g01100)
= (seekl, $91100)
= (seekl, $0]1 oe)‘B Mﬁ&/\o,\ 4
= (seekO, $0xl®0)
= (seekO, $®x190)
= (reset, $0xlx0)
= (reset, $0x1 x0)
= (reset, $Qx1x0)
= (reset,A9x1x0)

= (start,

= (seekl, $$x1 x0) i

= (seekl, $$xlx0)/1 m&gd uﬂngmd,owgg&go/(oa )
= (seek0, $$xxx0) O 10 et
= (seek0, $$xxxQ)

= (reset, $$xx§x) = (seekl, $T00

= (reset, $$xxxx) = (seekl, $0100)

= (reset, $$§xxx) = (seek0, $0xQ0)

= (reset, $§XXXX) = (reset, $0§x0)

= (start, $$§xxx) = (reset, $9xx0)
= (verify, $$$§xx) = (reset, $0xx0)
= (verify, $$$$§x) = (start, $xx0)
= (verify, $$$$$§) = (seekl, $$xx0)
= (verify, $$$$$50) = (seekl, $$xx0)

= (accept, $$$$$§) =>hacﬂt! = (seekil, $$XX9) = reject!
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